The Indian Express Editorial — By English Madhyam

Overindulgence in carbohydrates and low protein intake are contributing to
India’s obesity crisis

India’s obesity problem and its connection to the surge in non-communicable diseases like diabetes
and hypertension have been evident for some time now. The findings of a recent survey offer a
clearer picture of what may be one of the biggest factors driving this ballooning crisis. Conducted as
part of a study by the Indian Council of Medical Research-India Diabetes (ICMR-INDIAB), in
collaboration with the Madras Diabetes Research Foundation, the survey has found the typical diet
across the country to be highly skewed in favour of carbohydrates, which contribute a whopping 62
per cent of daily calories for most Indians. Along with this overconsumption of refined carbohydrates
— chiefly in the form of white rice, milled whole grains and added sugar —the survey, conducted with
a sample of 1,21,077 Indian adults from urban and rural areas of 36 states, Union Territories and NCT-
Delhi, has also found sub-optimal protein consumption. It is a crisis, in other words, that begins at the
basic level of how people are putting together their meals.

In a country that has historically struggled with malnutrition, the growing number of people who
appear to be simultaneously overfed and under-nourished should set alarm bells ringing at every
level. It is further proof that rising prosperity does not automatically translate to a healthier diet.
Indeed, what these findings make clear is that beyond tackling the recognised risks posed by
overconsumption of salt-, fat- and sugar-laden ultra-processed, packaged snacks and drinks —
increasingly evident across rural and urban parts of the country — there is an urgent need to address
lack of awareness about the macronutrient composition of the average Indian’s diet. Some steps have
already been taken to address the overindulgence in junk food, notably in light of the alarming rise in
childhood obesity rates — more than 12 million children were grossly overweight in 2022, compared
to 0.4 million in 1990, as per a Lancet study last year. One such initiative is the CBSE’s directive earlier
this year to set up sugar boards in affiliated schools to reinforce the dangers of excessive sugar
consumption.

But such steps are not nearly enough. Neither are government initiatives to encourage greater
consumption of millets, which have been promoted as a more nutritionally-dense replacement for
refined grains, as they do not take into account the fundamental problems of overindulgence in carbs
and protein deficiency. This is also why policies that place political imperatives above public health
concerns, such as the exclusion of eggs in midday meal schemes in various states, need a rethink. In a
country where large portions of rice, roti and other grain-based foods form the centre of a meal,
representing both security and satiation, what is needed is a strategy that places nutrition science at
its centre, involving both children and adults. Overhauling the way people eat —how they have long

eaten — is not going to be easy. But it must be done. |[Practice Exercise]

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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10.

Vocabulary

Overindulgence (noun) — excessive
consumption, overconsumption,
immoderation, intemperance, gluttony

3T EaeT

Obesity (noun) — the condition of being
grossly overweight or having an excessive

amount of body fat. #rerdr

Surge (noun) — sudden increase, rise,

upswing, escalation, growth CrAEL

Non-communicable disease (noun) —a
medical condition or disease that is not
infectious and cannot be transmitted

between people. IR-TARy 9T

Hypertension (noun) — a condition in
which the force of the blood against the
artery walls is too high; high blood

pressure. 3Td {&ddlq

Evident (adjective) — obvious, clear,

apparent, plain, noticeable ¥t

Finding (noun) — conclusion, result,

discovery, outcome, determination IGLER

Drive (verb) — cause, fuel, power, prompt,
stimulate YR &HLAT

Ballooning (adjective) — rapidly increasing,
soaring, escalating, swelling, expanding

ésﬁﬂmgaﬂ

In collaboration with (phrase) —in
partnership with, jointly with, in
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

cooperation with, together with o T@EIeT
q

Skew (verb) — distort, bias, unbalance,
slant, tilt FAST AT

Whopping (adjective) — huge, enormous,

massive, immense, gigantic STeg¥d

Sub-optimal (adjective) — less than the
best, inadequate, unsatisfactory, inferior,

poor 3T

Overfed (adjective) — having been given
too much food, overnourished, glutted,

stuffed 3ITa-9IST

Under-nourished (adjective) — not
provided with sufficient nourishment for

proper growth and health. ?Cﬁﬁﬁ

Set alarm bells ringing (phrase) — to cause
serious concern or warning about a

potential danger. WX ST Gl FATAT

Prosperity (noun) — wealth, affluence,

success, fortune, well-being H?il_'@'

Indeed (adverb) — in fact, actually,
certainly, truly, undoubtedly arEdd &

Pose (verb) — present, create, cause,

constitute, represent TG

Address (verb) — tackle, deal with, handle,
attend to, confront fagesT
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21.

22.

23.

24,

25.

In light of (phrase) — because of,
considering, taking into account, in view of

afra'@?rgcr

Grossly (adverb) — extremely, excessively,
hugely, vastly, immensely 3Tcafeis

Directive (noun) — order, instruction,

command, decree, mandate fader

Set up (phrasal verb) — establish, create,
institute, form, install 1T LT

Reinforce (verb) — strengthen, emphasize,
underscore, fortify, bolster HTd AT

26.

27.

28.

29.

30.

Take into account (phrase) — consider,
bear in mind, take note of, allow for, factor

in €ATeT H I&aAT

Deficiency (noun) — lack, insufficiency,

shortage, inadequacy, scarcity AT

Imperative (noun) — necessity, essential,
requirement, obligation, duty Jtfeariar

Satiation (noun) — the feeling of being fully

satisfied, especially from eating. Qﬁ'

Overhaul (verb) — reform, revamp,

restructure, reorganize, improve q{\ff?-ﬂ_b’

q GUR=AT
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10.

11.

12.

13.
14.

15.

Summary of the Editorial
India’s obesity epidemic is closely linked to the growing burden of non-communicable
diseases (NCDs) like diabetes and hypertension.
A new ICMR-INDIAB study, conducted with the Madras Diabetes Research Foundation,
highlights key dietary imbalances fueling this crisis.
The average Indian diet is excessively high in carbohydrates, contributing 62% of daily
calorie intake.
Most of these carbs come from refined sources such as white rice, milled grains, and added
sugars.
The survey, which covered 1,21,077 adults across 36 states and Union Territories, also
revealed low protein consumption nationwide.
This pattern has created a condition where many Indians are overfed but undernourished, a
dual nutrition problem.
Rising prosperity has not necessarily led to healthier or more balanced diets.
Beyond junk food and processed snacks, there is a lack of awareness about proper
macronutrient balance in everyday meals.
The problem is especially alarming among children — over 12 million were obese in 2022,
up from 0.4 million in 1990, according to The Lancet.
CBSE’s “sugar boards” initiative in schools aims to educate students on the dangers of
excessive sugar but remains a small step.
Government promotion of millets as a nutritious grain alternative is positive but does not
address protein deficiency adequately.
Excluding eggs from midday meal schemes in some states reflects political choices
overshadowing nutritional science.
A carb-heavy dietary culture, built around rice, roti, and grains, reinforces this imbalance.
A comprehensive strategy must put nutrition science and public awareness at the centre of
food policy.
Though changing India’s deeply rooted dietary habits will be difficult, it is essential to curb
obesity and protect long-term public health.
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Practice Exercise: SSC Pattern Based

1. What major dietary imbalance has the ICMR-INDIAB survey revealed as a key factor in India’s
obesity crisis? |[Editoria| page]\
A. Overconsumption of proteins and fats
B. Overconsumption of carbohydrates and low protein intake
C. High intake of fruits and vegetables
D. Excessive consumption of dairy products
2. Why does the author suggest that existing government initiatives like promoting millets and
discouraging junk food are insufficient?
A. Because such initiatives ignore the deeper issues of carbohydrate overindulgence and
protein deficiency
B. Because people prefer junk food to healthy food
C. Because millets are not easily available in rural areas
D. Because the public refuses to follow government diet plans
3. What can be inferred about the Indian dietary habits from the passage?
A. Indians consume more protein than required.
B. The Indian diet is largely carbohydrate-dominant and protein-deficient.
C. Indians have successfully overcome malnutrition through improved diets.
D. The government has effectively solved the obesity crisis through awareness campaigns.
4. Rising prosperity in India has not necessarily led to
A. Improved dietary awareness
B. Greater sugar consumption
C. Healthier eating habits
D. Increased use of packaged snacks
5. The author’s tone in the passage can best be described as:
A. Indifferent and factual
B. Neutral and descriptive
C. Humorous and casual
D. Alarmed yet solution-oriented
6. Select the most appropriate synonym of the given word.
FULSOME
A. Unctuous
B. Tenebrous
C. Orthodox
D. Mordant
7. Select the most appropriate option to fill in the blank.
The world is changing __ that the rich become richer and the poor become poorer.
A. through
B. in many way
C.in away
D. in such a way
8. Identify the part of speech of the underlined word.
The preacher said, “No one is above the all powerful”
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10.
11.
12.

13.

14.

A. Adverb

B. Place value

C. Preposition

D. Verb

Select the most appropriate synonym of the given word.

QUEER

A. Eccentric

B. Tergiversate

C. Mansuetude

D. Boustrophedon

Select the most appropriate meaning of the given idiom.

Run wild

A. To run like a wild animal

B. To treat anyone like a wild creature

C. To feel like a wild animal

D. To grow without any control

Select the most appropriate ANTONYM of the given word.

His arguments are not valid. People consider it bombastic

A. outdated

B. straight forward

C. verbose

D. not true

Select the most appropriate ANTONYM of the given word.

FORTITUDE

A. Equanimity

B. Stoicism

C. Pusillanimity

D. Forbearance

The following sentence has been divided into parts. One of them may contain an error. Select
the part that contains the error from the given options. If you don’t find any error, mark ‘No
error’ as your answer.

Irrigation works have a special importance / in an agricultural countries like India, / where
rainfall is unequally distributed throughout the seasons. / No error

A. Irrigation works have a special importance

B. in an agricultural countries like India

C. where rainfall is unequally distributed throughout the seasons

D. No error

Improve the bold part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.

The Principal of the school assembled the students and emphasised the importance of
discipline in their everyday lives.

A. emphasised on the importance

B. emphasised over the importance

C. emphasised upon the importance
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15.

16.

17.

18.

19.

20.

D. no improvement

Select the most appropriate meaning of the given idiom.

Spiff up

A. To make oneself look neat

B. To make oneself look untidy

C. To make oneself look arrogant

D. To appear on the stage as a baboon

Select the most appropriate option to fill in the blank.

Had | been informed beforehand, | it to the celebrations.

A. could have made

B. will have made

C. would have

D. ought to have made

Identify the part of speech of the underlined word.

The most beautiful seven monkeys of the landlord were taken for a stroll.

A. Object

B. Adjective

C. Noun phrase

D. Noun

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. In some cases, the problem of the lowering of the river bottom has caused the water table of
the surrounding area to drop, which has adversely affected agriculture.

B. Also, another problem, canalization with its extensive system of locks and navigation dams,
often seriously disrupts riverine ecosystems.

C. The ever-increasing exploitation of rivers has given rise to a variety of problems.

D. Further, extensive commercial navigation of rivers has resulted in much artificial
improvement of natural channels, including increasing the depth of the channels to permit
passage of larger vessels

A. CABD

B. CDAB

C. BDAC

D. DCAB

Improve the bold part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.

The visiting school children circumnavigated around the Dal Lake with visible delight during
their visit to Srinagar.

A. circumnavigated about

B. circumnavigated on

C. circumnavigated

D. no improvement

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.
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A. These kinds of sharks are known as obligate ram ventilators because they draw water in
through their mouths and force it out through their gills.
B. They use a method called buccal pumping, in which water is pulled in through the mouth and
forced out through the gills by the cheek muscles.
C. It is true that many types of sharks must keep moving in order to receive life-giving oxygen
from the water passing through their gills.
D. Other types of sharks are able to remain stationary because they possess special structures
called spiracles, which force water out through their gills.
A. DABC
B. CDAB
C. BCDA
D. CABD
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
India is the most populous and also one of the (1) countries. Estimates by the
Confederation of Indian Industry (Cll) suggest that over the next 25 years, India will add around
133 million people to its working-age population (15-64 years), which is close to 18% of the
total incremental global workforce. However, India has a short window to ___ (2) this
demographic dividend, as the worker population is expectedto _ (3) around 2043.
Employment generation is critical for equity and inclusion. Quality jobs at scale can lift millions
out of poverty, reduce regional and social disparities, and (4) a more even
distribution of growth benefits. Generating jobs is also (5) for growth and resilience.
In a consumption-driven economy such as India’s, broadening consumption through good
quality jobs accelerates and stabilises growth.

21. What should come in the place of 1.
A. Younger
B. Young
C. More Younger
D. Youngest

22. What should come in the place of 2.
A. impotence
B. leverage
C. mordant
D. stalwart

23. What should come in the place of 3.
A. nadir
B. abyss
C. peak
D. proviso

24. What should come in the place of 4.
A. ensuring
B. ensure
C. ensured

Telegram channel: English Madhyam.
Website: www.englishmadhyam.info Page 8




The Indian Express Editorial — By English Madhyam 07 October 2025

D. ensures
25. What should come in the place of 5.
A. trivial
B. peripheral
C. tractable
D. vital
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Answers
1. B 2.A 3B 4.C 5D 6.A 7.0 8C 9.A 10D 11.B 12C
13.B 14D 15.A 16.A 17B 18A 19.C 20D 21.D 22B 23.C 248B
25.D [Practice Exercise]

Explanations
1. B) Overconsumption of carbohydrates and low protein intake
The passage clearly states that the ICMR-INDIAB survey found the typical Indian diet is
highly skewed in favour of carbohydrates (62% of daily calories) and low in protein
consumption, which is directly linked to the obesity crisis.
e Incorrect — The problem is low protein intake, not overconsumption.
e Incorrect — Fruits and vegetables are not mentioned as a cause.
e Incorrect — Dairy products are not discussed in the context of obesity here.
2. A) Because such initiatives ignore the deeper issues of carbohydrate overindulgence and
protein deficiency
The passage states that while promoting millets and discouraging junk food are positive
steps, they “do not take into account the fundamental problems of overindulgence in carbs
and protein deficiency.” Hence, these measures alone cannot solve the problem.
e B)Incorrect — Though people may prefer junk food, that’s not the author’s central
argument.
e C)Incorrect — Availability of millets is not mentioned as the issue.
e D) Incorrect — There is no mention of public refusal to follow diet plans.
3. B) The Indian diet is largely carbohydrate-dominant and protein-deficient.
The passage clearly states that the typical Indian diet consists of 62% carbohydrates and
sub-optimal protein intake, leading to obesity and malnutrition despite prosperity.
e Incorrect — The passage highlights low protein intake, not excess.
e Incorrect — Malnutrition still exists; people are now “overfed yet undernourished.”
e Incorrect — The author says government steps are “not nearly enough,” showing
the crisis persists.
4. C) Healthier eating habits
The passage mentions that “rising prosperity does not automatically translate to a healthier
diet.” Thus, despite economic growth, people’s eating habits remain poor.
e Incorrect — Awareness remains low; the passage emphasizes the need for it.
e Incorrect — Sugar consumption has actually increased, not decreased.
e Incorrect — Packaged snack consumption has grown in both rural and urban India.
5. D) Alarmed yet solution-oriented
The author expresses concern (alarm) about the obesity and dietary crisis (“alarm bells
ringing”) but also emphasizes the need for nutritional strategies and reforms, showing a
solution-driven tone.
e Incorrect — The tone is not indifferent; it’s urgent and persuasive.
e Incorrect — The tone is not neutral; it urges policy change and awareness.
e Incorrect — No humor or casual tone is used; the topic is serious.
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6. A) Fulsome (adjective) — Excessive or insincere (especially praise); cloying; (archaic)
abundant. 3AfIH/ATIC; SRR ¥ I HYF; (RAT 31) TR
Synonym: Unctuous (adjective) — Oily and ingratiating; excessively flattering.
AT/ dd-AaRaR |

e Tenebrous (adjective) — Dark, shadowy, obscure. GT?JW/?EITWI

e Orthodox (adjective) — Conventional, adhering to tradition. 13|'R'CI'W/'\’?I%TJTEZT|
e Mordant (adjective) — Bitingly sarcastic; caustic. ME/HBR Bdmtgvfl
7. D)in such a way" &I J4NT BN &I R e & ar9g 39 Scad &t digdl 3R
gRumy &) <= Xol %’I 23|3\TJ "The world is changing ____ that the rich become richer and
the poor become poorer."ff g 3f Rpad & & sgaa 39 UHR Bl & ASLED
W&[WW%W@WHW%%WW%I Wﬁ‘ﬂ"insucha
way oL SUgad fawed gl

"in such a way" should be used because the entire context of the sentence highlights
the manner and consequence of change. Here, "The world is changing ___ that the
rich become richer and the poor become poorer" conveys that the change is
occurring in a particular manner that directly results in this inequality. Thus, "in such
a way" is the most appropriate choice.

8. C) ‘above’ ZIET Uh Preposmon% e gg ‘the all powerful’ (noun phrase)% a1y

JEHR RGN &Y I T @1 § — i dis off fdq Faifdaam 4
SIS -5l g
In English:

e ‘above’ functions as a Preposition, showing relation in terms of position or hierarchy

(higher than the all powerful).
9. A) Queer (adjective) — Strange, odd, not usual; (note: as an identity term it is

neutral/reclaimed, but here the sense is “odd/peculiar”). 3fotte/faf= |
Synonym: Eccentric (adjective) — Unconventional; odd in habit or style.
REEAENHACIEED
e Tergiversate (verb) — To abandon a position or equivocate. Udcd! @HI/eTaHed
DA
e Mansuetude (noun) — Gentleness; meekness. I/ faTHd|
e Boustrophedon (noun) — A writing style with alternating directions line by line. Tdh
Ufad gii-aid 3ae %A § fore &1 ugfal
10. D) Run wild (idiom) — To grow without any control w Eﬁ:ﬂ | o 4 dlgr de-l
11. B) Bombastic (adjective) — Pompous, inflated, pretentious, grandiloquent, flowery. Todll

g3M1 / ST ORA aren
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12.

13.

14.

15.
16.

Antonym: Straightforward (adjective) — Simple, direct, clear, unpretentious, plain. TieT-

e Outdated (adjective) — Old-fashioned, obsolete, antiquated, passé. Il
e Verbose (adjective) — Wordy, long-winded, loquacious, garrulous.
e Not true (phrase) — False, incorrect, untrue. ITdd

C) Fortitude (noun) — Courage in facing pain or adversity; grit. aﬁm
Antonym: Pusillanimity (adjective) — Cowardice; lack of courage or determination.
DI dI/gGU-xdl

e Equanimity — Calmness and composure under stress. JHYTa/RR
e Stoicism — Endurance without complaint; impassiveness. @Iduﬂdllg!@-{-l‘é"l-‘{nmdl

e Forbearance — Patient self-control; restraint. HE:IQ“FIHIW
B) “in an agricultural countries like India,”

Solution) 'an’ & dlg singular noun ElT%'E{; 'countries' & W ‘country’ él‘ll.

e Article “an” requires a singular noun: use “country,” not “countries.”
Like— Irrigation works have a special importance in an agricultural country like India,
where rainfall is unequally distributed throughout the seasons.

D) 'emphasised the importance'% [T YR ﬁ’sﬁ uRadq sraa® '_'|€[ % Hifep
’emphasise’ﬁﬂ?ﬂ BT TN fom prepositionaf ey object (‘the importance of
discipline’)% RSIK Eﬂ?ﬂ %I Preposition \_T“S.:ll (on/over/upon) 3TdRGDH 3R TeId %I
J3algUl— The teacher emphasised the value of honesty. (ﬂﬁ 1;l?:l}l"'[)

e 'emphasised the importance' will remain unchanged because the verb ‘emphasise’ is
correctly followed directly by the object without needing a preposition. Using
‘on/over/upon’ here would be redundant and incorrect.

Example— The teacher emphasised the value of honesty. (Correct usage)

A) Spiff up (idiom) — To make oneself look neat HTH-FURT &I / {:l{-li-\;‘ld 6\I'-|I
A) could have made' @] TN él‘ll Hifs are Udh missed possibility in the pastﬁ
EQIial %I "Had | been informed beforehand" Udh third conditional clause %,Gﬁ

hypothetical past situation §dldl %I ZI%T "could have made" Ug EQIial % fb SR @

u%@r gdrar Tar Eﬁ?ﬂ ar 'Ef celebration & UEVET b dl UT| sﬂﬁfq "could have made"

qe Iugad fdebed ghm|
e 'Could have made' should be used because the sentence expresses a missed
possibility in the past. The clause "Had | been informed beforehand" is a third
conditional, referring to an unreal past situation. In this context, "could have made"
indicates that the speaker had the ability or possibility to attend the
celebrations if informed earlier. Thus, "could have made" is the most appropriate choice.
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17.

18.

19.

20.

B) ‘most beautiful’ Adjective phrase %I 23I_E~5=[J ‘beautiful’ Adjective %, S noun ‘monkeys’ Gl
quality (ijazal) P a2l el %’I ‘most’ U Adverb of degree% S adjective ‘beautiful’

P superlative degree (T&9 ) # d9cd T B

e ‘most beautiful’ functions as an Adjective, showing the quality of the noun
(monkeys). It modifies the noun phrase “seven monkeys” by describing them as “the
most beautiful”.

A) CABD

C begins the paragraph by introducing the subject (exploitation of rivers) and the central
claim (various problems).

A follows C because it provides the first specific problem (lowering of the river bottom) and
its effect (drop in water table), linked by the phrase "In some cases."

D comes next with another problem (commercial navigation) and its result (artificial channel
improvements), connected by "Further."

B concludes by adding one more problem (canalization disrupting ecosystems), introduced
by "Also."

Hindi Explanation:

e C paragraphﬁ AT Pl %’ Hifes g subject Hﬁtﬁ hI dedl Ea—s':[) 3R
central idea (ﬁf\‘l-[ﬂ T—IWI'Q) P! introduce BT %’I
e ACH TG A § Hifdh T8 Ul I (Sl dd BT A 37N 3R
IIHT YHIG (ST TR BT FIRAT) Farar g
e D,AD T 3l & FIfP T8 T THWT (TGRS Aag) 3R ITH
ofkom () 99 | HRAH Sard) B Siedr 8l
) Bparagraphaﬁwm%mﬁw 3R gE (:Iﬁ?}fm
TRfRUfA®! & JHaH) B Siedr ]l
C) Circumnavigated around’ & aa?r Had ‘circumnavigated’ I TN EﬁTIT Hifds
circumnavigate R[og DI e 3)[ Eﬁ?ﬂ % IRI MR YHAT / LIEGZE] WI”W g1y

around T I 3 geXld (redundancy)E?f STl %I @@r— The sailors circumnavigated
the globe. (EIEETV ‘around’ @1 TAIHAT ol %)I

e ‘circumnavigated’ will be used instead of ‘circumnavigated around’ because the verb
circumnavigate itself means “to travel/go all the way around something.” Adding
around makes it redundant.

Like— The sailors circumnavigated the globe. (Here, around is unnecessary).
D) CABD
C starts the sentence by introducing the main subject, "many types of sharks," and their
necessity to keep moving for oxygen. This sets the context for the paragraph.
A follows C because it explains how these sharks breathe (by obligate ram ventilation),
directly linking to the idea introduced in C (sharks needing to move to get oxygen).
B comes next as it introduces a contrasting method of breathing (buccal pumping) used by
other sharks, shifting the focus from obligate ram ventilators.
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D logically concludes the paragraph by introducing yet another method (spiracles) that
allows some sharks to remain stationary, providing a complete view of different shark
breathing mechanisms.

In Hindi:

e Csentence ®! RL3HId pdl %,?R:h% g subject "many types of sharks" DI
introduce hXdl %’ 3R ITPT oxygen YTtd PR B f%fq movement &1
ARl B FdTdl %I g paragraph% FCI'Q context set hdl %I

e ACH FIC AT § FIfP U8 I & fF T sharks FY TG dd & (obligate
ram ventilation & Q"RT),\_SF[ cH introduce Bl ﬂ"s‘ SR I Y vsdl %I

. B,A% diq AHIdl %’ i gg U 3T WP (buccal pumping) introduce
Hdl %,ﬁm@ paragraph @I focus dgddl %I

e D paragraphﬁ HJHTT hdl %’ Hifes g Uh 3R aRT (spiracles) ddTdT %’
o PSS sharks famT %ﬁ I o ghd %;I m shark @1 breathing methods
&1 R 01 g1 S g

21. D) ‘Youngest’ &I useEﬁTIT Fifs A/ H “India is the most populous and also one of the
__countries” 8T AT §, ST 3if 8 fF YR Iad 3iffies =@ arell 3R
ey gdr <9 H A TH Bl ‘One of the’ & §IG GHN superlative degree @T TART
foar Smar %wﬁfm ’youngest’ﬂﬁ %I Sdfdh ’young'm g gl & %Q Eﬁ?ﬂ
%, ‘younger’ comparative degree%r S ‘than’ & 1Y TN Eﬂ?ﬁ %, 3R ‘more younger’

double comparative%r S| grammatically TTcId %‘I
¢ ‘Youngest’ will be used because the sentence says “India is the most populous and
also one of the ___ countries,” meaning India is among the youngest countries. After
‘one of the,” a superlative degree is used. Whereas ‘young’ is a positive adjective,
‘younger’ is comparative (used with ‘than’), and ‘more younger’ is grammatically
incorrect (double comparative).

22. B) 'Leverage' &I useEﬁTIT e "leverage" I 3 Eﬂ?ﬂ % fopait Eﬁ\_ﬂ CARCIRE

ATH ST TT ITANT BIATI Sentence H gl Tl % f® “India has a short window to
(2)_ this demographic dividend,”q'l:ﬁ HRd & U Iifvd 99y % BRI SHYIRIAS T
ATH hT BTl 3IoM BT —Eﬂﬁfq 'Ieverage'tlgfv ﬂﬁ %I NEIEH 'Impotence’ dI 3
g SrmYdr a1 FEadT, ‘Mordant' &1 31 § @1 a1 TATHD, 3R 'Stalwart' &1 37
g FsTEam a1 Oolgd @fad — S 39 context H UGS Tl & |
e 'Leverage' will be used because it means to make the most effective use of
something. The sentence says India has a short window to leverage this
demographic dividend, i.e., to take advantage of the population opportunity.
Whereas 'Impotence’ means weakness or inability, 'Mordant' means sharp or
sarcastic, and 'Stalwart' means loyal or strong person — none fit grammatically or
contextually here.
23. C) Peak' &I use EﬁTIT TP “the worker population is expected to ___ around '2043" DI

3 g b Prdiicl SESI 9 2043 AU 30 J=qH TR W TG
“Peak” hI e Eﬁ?ﬂ % “to reach the highest point"tl'l:ﬁ J=dq 9T db Ugd-Tl
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Safd ‘Nadir BT 31 % “lowest point” (ﬂaﬁ IEEN ﬁl‘g,’), ‘Abyss’ DI 312 % “a deep or
bottomless pit” (33 TI_ER'I_SC), \3'?|T ‘Proviso’ &I \’rf?‘f % “a condition attached to an
agreement” ('Q'I?f)l T gHt vIsg 4 e | \’rf?‘fqpf ol %I

e 'Peak’ will be used because the sentence means “the worker population is expected
to reach its highest level around 2043.” The word “peak” means “to reach the
highest point.” Whereas ‘nadir’ means the lowest point, ‘abyss’ means a deep or
bottomless pit, and ‘proviso’ means a condition or clause in an agreement — all of
which are contextually incorrect here.

24. B) ensure' DI TN EﬁTIT e 23I_E~5=[J verb I base form ATARIDH %,\_rﬁ infinitive phrase
“and ensure a more even distribution of growth benefits” H parallel structure 14 ddT[
%I EI_E??T clause & “can lift millions out of poverty, reduce regional and social disparities”
@@r verbs base form & %Eﬂﬁﬂ ‘ensure’ HI I pattern I Uld- Hdl %’I NEIEE
‘ensuring’ gerund form %’ S parallelism Eﬁ%’?ﬂ %; ‘ensured’ past tense % S context &
oq 7'%3[ Tdl; 3?]? ‘ensures’ singular subject% Y third-person form %, S ZIET
grammatical :TE?[ %I

e ‘Ensure’ will be used because it is the base form of the verb needed in the infinitive
phrase “and ensure a more even distribution of growth benefits.” The earlier verbs
— “lift” and “reduce” — are also in base form, so to maintain grammatical
parallelism, ‘ensure’ fits correctly. Whereas, ‘ensuring’ (gerund) breaks the parallel
structure, ‘ensured’ (past tense) does not match the present context, and ‘ensures’
(third person singular) is grammatically inconsistent here.f

25. D) 'Vital' BT TN BT Riifh “vital” BT 3 gl & Ad SMID, TS U A
\;NN?II ared H dol Tl % & “Generating jobsisalso __ for growth and resilience”
M 6 IR gor fop iR =i & fu omawas g1 S9fad wital’ I8T gl
fAhed g1 TEf® “trivial BT 3 § T 1 A8, ‘peripheral’ &1 372 § 0T T
fR W,GﬁT ‘tractable’ &I 3 % I T IRa a1 s Zan,Gﬁ ERS| H_C{lf i
SUgad gl gl

[ ]

'Vital' will be used because it means extremely important or essential. The sentence

states that “Generating jobsisalso _ for growth and resilience,” which means
job creation is necessary for development and stability. Hence, ‘vital’ fits perfectly
here. Whereas, ‘trivial’ means insignificant or unimportant, ‘peripheral’ means
secondary or marginal, and ‘tractable’ means easily managed or controlled — none
of which convey the intended meaning in this context.
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